<?xml version="1.0" encoding="utf-8"?>
<Sciences>
<Chemistry>
<Organic ID="C1" origination="Ancient Greece" age="2800 yrs">
      <branch ID="C1a">
        <size>300</size>
        <price>1000</price>
        <degree>easy</degree>
[bookmark: _GoBack]        <origin>Athens</origin>
                           text for organic chem here
      </branch>
      <branch name="early" ID="C1b" source="Egypt" number="14">
        <size>100</size>
        <price>3000</price>
        <degree>hard</degree>
        <origin>Alexandria</origin>
                       text for original Egyptian science
      </branch>
    </Organic>
</Chemistry>
<Psychology/>
<Physics/>
  <Biology ID="B" origination="17th century" >

    <Medicine ID="B1" origination="Ancient Greece" age="2800 yrs">
      <branch ID="B1a">
        <size>300</size>
        <price>1000</price>
        <degree>easy</degree>
        <origin>Saudi</origin>
                           text for race horse here
      </branch>
      <outsidevalue/>
      <branch name="race" ID="B1b" source="Egypt" number="14">
        <size>100</size>
        <price>3000</price>
        <degree>hard</degree>
        <origin>Egypt</origin>
                       text for dray here
      </branch>
    </Medicine>

    <Zoology ID="D" name="canine" age="19000">
      <type ID="D1" name="dog">
                         <subtype>german shepard</subtype><subtype>dachsund</subtype></type>
      <type ID="D2" name="wolf" age="100000">
                       <subtype>grey</subtype><subtype>spotted</subtype></type>
    </Zoology>

    <Botany genre="novel" ID="B" name="ursus rex" age="20000000" number="15">
      <type ID="B1" name="ursus brevex">brown bear</type><type ID="B2" name="ursusstriatus">black bear</type></Botany>

    <Cow ID="C" name="cow" age="9500">
            <type ID="C1">
              <size>88</size>
              <price>4600</price>
              <degree>easy</degree>
            <origin>Macedonian Greece</origin>
              <subtype>longhorn</subtype>
             <subtype>shorthorn</subtype>
              </type>
       <type ID="C2">
         <size>120</size>
        <price>1000</price>
       <degree>medium</degree>
         <origin>Egypt</origin>
          <subtype>small</subtype>
       <subtype>large</subtype>
          </type>
      </Cow>

    <Reptile sample_attribute1="val1" sample_attribute2="val2">
<type h="F">alligator</type>
<type k="o">lizard</type>
</Reptile>

  
  <Plants name="Plants" type="string">
    <Trees ID="T" name="trees" age="30000000">
      <type ID="T1">oak</type>
      <type ID="T2">elm</type>
      <type ID="T1">oak</type>
    </Trees>
   
  </Plants>
</Biology>

</Sciences>
